=z X
o

A
52

Mo

L7
@D 0.321321--- = 0.321

B 1.02545454--- = 1.0254

@ 3.030303--- = 3.0
® 0.9222---=0.92

@ 1.5191919--- = 1.519






o
oo
ofn
8o
N
5{[0
Flo
Y
rlo

D (2xy%)% = 4x%y*
® (@) = a'p?

® (-4a*)? = 16a®

@ (-3x)% = 9x?

@ (-3ab?)? = —9ab



4. 8172 = (1

2x-10
) 2 xe g Fapoleh



5. (3x-4y-3)+ (x-2y-3)& 7hs] 5}w?

® 2x-3y+6 @ 2x-2y+4 ® 4x-4y-6

@ 4x-6y—6 ® 4x-6y+6






7.

1 _
WA 3x+ =y -5 =02y ol B5to] A7

2

® y=-3x+5

@ y=-3x+10

1
@ Zy=-3x+5

® y=-6x+10



_/l\‘% El’:_ :’Lﬁ]_oqa]— (Ta—
@314 ©-10 ©r @0 @ 30
=




S fratade debllold o, the B o o8 49 isololof

Shrt?

@ 3 @ 4 ® 5 @ 6 ®7



100 2 a\3 . (,04,2)\3 _ b 5
(2xy*)? + (xy%) —ﬁﬂ'@‘j’dc’émﬂ,a—kb—cgﬁ%?

@® 5 @ 6 @7 @ 8 ® 9



@
a’b
3

®
a®b
3




@ x3y3 @ xty! ® %5

@ x%y?

@ xy



13. 3y-[2x- {3x+ 4y~ (5y - x)}] & IH3] Spoit.

5 L
3%



14. (2x2-3x-5)-3(x>-x+4) =Ax*+Bx+C ¥ W, A+B-C ¢
= oozt

D
=%



® 6x2
x? + 10xy — 5y?

@ 5x*
x2 4 10xy — 5y?

@ 622
x% + Txy — 5y?



16. (2x+b)?=ax®+4x+1 D W, &5 a, b o Fa+b 9 AH2?

@1 @ 2 ® 3 @ 4 ® 5



17. o5 AZ AN o, x o A7t 7P 2 A2?

@ (3x+1)2 @ (3x-1)?
® (3x—1)(x-3) @ (Bx+1)(x+3)

® (Bx+1)(3x-1)



18. = ALt T &2 A2?

@ 2a(3x+2) = 6ax+ 2a

@ (2ab +3b) + g = da + 6b*

® (8x* —12x) + (—4x) = -2x+3

@ 2x(3x—1) = 3x(4 - x) = 9x? — 10x

® 3x(—x+2y—4) = 3x% + 6xy — 12x



19. A=2x-y,B=—-x+2y ¥ 1], 2A — 3B & ALt 2227

@®© x+4y @ x-8y @ Tx+4y

@ 7x-8y ® Tx+ 2y



® 100




21. ©= T 254 of 50 A A o] A7 7 A2 A0

@D 0.9 @ 0.27 ® 0.125 @ 2.345 ® 2.743



22. va 5 7P ARE AEd 2 e o v WA sidste

AL

® 0.453 @ 0453 ® 0.453

@ 0.453 ® 0.4530



@ 5

2 YErga g



24. o2 oo 017 AE AEE HET AL
1\? 2\?2
2 _
@ x(z) * () —oe
D 4,1,4 @ 4,24 ® 4.3.3
@ 4,3,2 ® 4,4,2




25. o[ |ote] Sojz 9w
319 — 27I:I+1 -9

5
=%



